NTSE STAGE-Il (2014)
CLASS-X [MAT]

HINTS & SOLUTIONS

ANSWER KEY

Ques.| 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans.| 1 3 1 4 1 1 1 3 1 4 3 1 2 4 3
Ques.| 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans.| 2 2 2 2 3 2 4 3 1 2 1 1 4 3 4
Ques.[ 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
Ans.| 3 2 1 2 4 2 1 1 4 4 3 4 3 4 1
Ques.| 46 47 48 49 50
Ans. 3 4 4 2 4

1. +51, +102, +153, +204,..... A 3 A S . AN
Ans 520
30. AN - (19+20) ~h 13
2. NAJ31, BEF28, RAM31, RPA30, YAM31 (S+7)
JANUARY 31 DAYS Than MANIPUR =14M13V11J9
FEBRUARY 28 DAYS _
MARCH 31 DAYS 31. By Difference’s difference

APRIL 30 DAYS....
32. (22432447 — (12452 =3

7. (8+3)x(9-3)=44 (7°+82+92) — (6°+10%) = 58
(4+2)x(12-3) =54
(10+6)%(13-8) =80 41. 7+2+3+5=19
8+5+7+4 = 24
8. (7x5x12)=10=42 6+4+3+5 =18
(5%6x8)=10=24
(9%x6x15)+10 = 81 44, 953 (RVXYS) 28
All letter’s position from back side
14. 141=2 R-9,V-5X-3,Y-2,S-8
2242 = 6 So, 714 (TZWUYV) 65.
3F+3=30
4*+4 = 260
55+5 =3130

15. 2x1+4=6
6x2+6=18
18x4+8=80
80x8+10=650

17.  FAST (62+12+192+20%) =798
LAST (122+12+192+202) = 906
BUSY (2%+212+192+257) = 1431

JAN Resonance ,
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NTSE STAGE-Il (2014)
CLASS-X [LANGUAGE TEST]

ENGLISH

Ques.,| 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans. 4 4 3 1 2 2 1 1 4 3 1 4 2 1 3
Ques.| 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans. 1 2 3 1 4 4 1 3 1 4 2 3 2 2 1
Ques. 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
Ans.| 3 2 1 3 4 2 1 3 2 4 2 2 3 4 3
Ques.| 46 47 48 49 50

Ans. 2 3 1 3 4

HINDI

Ques.,| 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans. 4 4 3 1 2 2 1 1 4 3 1 4 2 1 3
Ques. 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans. 1 2 3 1 4 4 1 3 2 4 2 3 1 2 1
Ques. 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
Ans.| 3 2 1 3 4 2 1 3 2 4 2 2 3 2 3
Ques.| 46 47 48 49 50

Ans. 2 3 1 2 4

JAN Resonance
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